4 3 fa

@ 2023 TE Connectivity. ALl Rights Reserved. ‘ REVISITONS
P LTR DESCRIPTION DATE DWN APVD
A ECN-23-239064 TE STANDARD [10NOV2023 | KS RB
B ECN-24-2L9445 HOUSING AND COVER PBT [29JAN2024 | KS RB
}7
=
o NOTES
o Bemerkungen:
= /\
Z«J—
= ROLLER @5 - 5 WIDE - POM
= 20 .7 Rolle @5- 5 breit - POM
Eé @32 W A TE-CONNECTIVITY ORDER-NUMBER
| = — TE-Connectivity Bestellnummer
: £
<H il i
. M ) - $
I il | B N |
N SN NO O
™ NC ;
! N
‘ NI C J
{E g =
U !
3.5 1| 10.3 40.1 _
272.7 +0.1
B 2'7.8 10 05
MICROSW I TCH
K1041962 2 A Mikroschalter 12.2 1
TE ORDER-NO REV. DESCRIPT ION WEIGHT [g] |y "
CIRCUIT DIAGRAM: THIS DRAWING IS A CONTROLLED DOCUMENT. DWKN 0 1JUNZ003
o HE Faun -G TE Connectivity
Schaltbilad: 11SEP2019 ——
PIMENSTONS: OTHERW 1< SPECIT1ED: APAV&O.WSLZ TISEP2019 | Name
j WZ (N[) mm DIN I1SO 2768 ¢l PB{)QJPEE!QHG@F M‘[RUSW ‘T[H
11 () L (NO) e o Mikroschalter
2 PLC +
%gig} 3 PLC 3 APPLICATION SPEC
4 P + SIZE CAGE CODE | DRAWING NO RESTRICTED TO
LES +
MATER IAL FINISH WEIGHT Ag 00779 |(C=M7X1-361-309-904 -
CUSTOMER DRAW ING SME o Py YR

1470-19 (3/13)




4 3 f
© 2023 TE Connectivity. All Rights Reserved. ‘ REVISIONS
P LTR DESCRIPTION DATE DWN APVD
- SEE SHEET 1 - -
CONSTRUCTION Aufbau
HOUSTING MA T ER LAttt ettt ettt et iee it eeneeeaeateaneenertonnaeneroonnonnonoss PBT N AUSEW TS O ettt e e e e e PBT
COVER MA TR R AL ettt e e e e e e et et e e iae s PBT Dokl WK ST O e e e e PBT
CONNECTIONS o e e SCREW CONNECTION M3X5 IS0 1580 ANSCRLUSS ettt Schraubanschluss M3x5 SO 1580
PROTECTION, INTERIOR .ttt P 40 IEC 60 529 SCRUTZar T MM eAR AUM . ettt et e eeeeeans P 40 IEC 60 529
CONNEC TIONS o e [P 00 [EC 60 529 = T V=] < S [P 00 IEC 60 529

MECHANICAL DATA Mechanische Daten
T O 1 > mm =T 1 >1 mm
MOVEMENT D IFFERENT LAL ettt e e e 0.05 TO 0,3mm D Om N Z WG et et e e 0,05 bis 0,3 mm
OPERATING FORCE ettt ettt e e et et 1.5 TO 3N Yo 1= 11056 1.5 bis 3N
RELE ASE FORCE ettt e e e e e e e e e >7 N T =T =110 = P >1 N.
OPERATING FORCE MA XK et e e e e <10 N Bet At igUNgSKrafT MaX e er i ve it ve et eteenenenionsioonenonses <10 N
CURRENT CARRYING PART S .t e Cu-ALLOY Stromfinrende Telle. e Cu-Legierung
CONT ACT MATER AL ettt ettt it ie e e et r e ieateaneaneenoanooneeneenonsoonss AgNi10 TR I 8 T2 T T 1 AgNi10
LIFE CYCLE MECHANIC AL ittt e e e e e e 30 MILLION Lebensdauer MeCNamiSTN . .t ettt et e et e e, 30 Mio.
FREAUEN Y et e e e e e e e 200 PER MINUTE Y 1 e 1 S 200 pro Minute
OPERATING SPEED IN DIRECTION OF PLUNGER....coovveiiiiii . MAX. 0.5m/s Bet tigungsgeschwindigkeit in StoRelrichtung................ max. 0,5 m/s
AMBIENT TEMPERATURE ..ottt e -L0°C TO +85°C UMgebungstemperatur. vttt -40°C bis +85°C
ELECTRICAL DATA Elektrische Daten
LTS 250V AC 24V DC NENNSBANMUNG e+ e vt et tee e ee e e eeee e e aenenannans 250 V. AC 24V DC
CONTINUBUS CURRENT « ottt et et e ean 10.1 A =TT 1 12 S 10.1 A
SWITCHING CAPACTTY vere e 250 V AC, 13A RESISTIVE LOAD SCRALIVErMOgeM . vt e 250 V AC, 13 A ohmsche Last

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn 250 V AC, 9A  (0S. ¢=0.8 e 250V AC, 9 A Co0s. 9:=0.8

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu 250 V. AC, 5 A (0S. ¢=0.6 eerieenenerienieeneieneen 250V AC, 5 A c0s. 9=0.6

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu 250 V. AC, 3A  (0S. e=0.4 e reereeeiieieeie 250V AC, 3 A C0S. 9=0.4

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn 2LV DC, 8A  RESISTIVE LOAD e 2V D0, 8 A ohmsche Last

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu 2LV DC, 20 L/R = 50ms e 20V D, 2 A L/R = 50 ms
SWITCHING CAPACTTY MIN et et et e e ieeiaens 12V DC, 10mA SChaltleistunNg Min. e e eee e 12V DC, 10 mA

FOR LOWER VOLTAGES OR CURRENTS WE RECOMMEND SWITCHES W ITH GOLD-PLATED CONTACTS

fir kleinere Spannungen bzw. Strdéme empfehlen wir Schalter mit vergoldefen Kontakfen

THIS DRAWING IS A CONTROLLED DOCUMENT. |DWN 1JUNZ2003
CHKKDBFBUH - TE Connectivity
v, TSEP20T —N
DIMENSIONS: TOLERANCES UNLESS NS dlz
OTHERWISE SPECIFIED: | APYD , TISEP2019 | Name
mm DIN IS0 2768 cl PFS)&%CTTOEF)RE\CHG@F MICROSW I TCH
0 PLC + :
el 1 Mikroschalfer
<§ E} 2 PLC +
3 PLC 3 APPLICATION SPEC
4 P + SIZE CAGE CODE | DRAWING NO RESTRICTED TO
LES +
MATER IAL FINISH WEIGHT Ag 00779 |(C=M7X1-361-309-904 -
CUSTOMER DRAW ING SAE o P o 1™R

1470-19 (3/13)




	Sheet 1
	Views
	new_view_1
	left_3
	new_view_4


	Sheet 2

